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1 |EBe 2 3,800
2 [BERUIV (H) 16 1,980
3 |FFUARV» 10 1,330
4 |e—F7—7 N (A) 2 1,100
5 |AREARF 30 2,600
6 |FLES 1 380
7 | AT—T 2 2,190
8 |FHAHF 4 1,520
9 |[fExEw (B) 1 880
10 |[F¥)—Uay 5] 3,030
11 |(FA=2T7F =7 (1) 2 3,100
12 [fEEa F) 4 1,080
13 |RAN ((FREAHY /B IRIZRVELT)

14 |[#@3B5IHL 4 3,500
15 |[IT7—FRyIA 510
16 |FETRI 7 2,990
17 |2t S 2o h 10 1,600
18 |[m2uft3BAZ LTV 9 1,580
19 (VI7oA4=2T7F =T 3 1,500
20 |/XVarT Ry 1 230
21 | ARELAZ (2H) 13 3,490
22 |(INATANTT— 6 520
23 | AREXTFATIBAIN Ty 3 1,500
24 |FHEHT =T 10 5,300
25 |7EfTayl— 3 3,000
26 | ARBINVHT—Fv7 1,520
27 |772B:5IHL 4 500
28 |EET] (2HR) 11 5,000
29 |[Fyrvrr<vh 14 870
30 (AT w/N— 21 5,100
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31 |TEATIA (41E) 1 200
32 |"DOWILT 3 2,000
33 |[AuftABEAZN T 14 2,500
34 &R 6 1,500
35 |BIAZ 10 1,200
36 |AfVHH 6 11,000
37 | NE—yk 3,000
38 |l =T 2 500
39 |7IU—REUR 13 1,800
40 |R—NH— 520
41 |3LEFE 9 9,600
42 | RE—H— 1 1,800
43 |\ H—ToF=7 16 1,210
44 |Fx)— 1,250
45 |EFRH = 4,440
46 |[VNN—T— 7 3,600
47 |BHERHE 2740F B 10 10,800
48 |HERHL 26 /F Y- 13 7,300
49 |BERE 27A0F Hf 12 9,800
50 |[RUVTUNAY 2440F IR 8 7,050
51 [PVl ABERE 204/VF & 22 15,150
52 |07 i=H BEH 204 /F #% 16 11,100
53 |PTVTc e HERE 204/F VN — 4 4,050
54 |BEREE 16407 V7 3 5,000
55 |HEREL 1840 F B 5 5,100
56 |YZUoli— 4 1,370
57 |[IXTUANAY 7 1,550
58 | AR — 1 320
59 |[FYIAR—F 3 600
60 |—HmEL 2 260




